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Name:

CHOOSE THE CORRECT OPTION.
A ORB?

4 ™\ @ How many balls are there?

@ . A) There are two balls.
@ B) There are three balls.

\_ J
A B
@ How many umbrellas are there?
r R
A) There is one umbrella.
B) There are four umbrellas.
. J
A B
e @ How many dolls are there?

A) There are two dolls.

B) There is one doll.
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Name:

@

A) There are two pairs of scissors.

B) There are three pairs of scissors.

@ How many backpacks are there?

CHOOSE THE CORRECT OPTION.

A

B

A ORDB?

A) There is one backpack.

B) There are four backpacks.

@ How many notebooks are there?

A

B

A) There is one notebook

B) There are three notebooks.

A

B

How many pairs of scissors are there?
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CHOOSE THE CORRECT OPTION.
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A ORB?

@ How many balls are there?

A) There are two balls.

B) There are three balls.

Jal B

@ How many umbrellas are there?

A) There is one umbrella.

B) There are four umbrellas.

LA] [ B

@ How many dolls are there?

A) There are two dolls.

B) There is one doll.

©Perky Learning

A B




Name:

CHOOSE THE CORRECT OPTION.

@

A ORB?

How many pairs of scissors are there?

A) There are two pairs of scissors.

B) There are three pairs of scissors.

A

B

@ How many backpacks are there?

A) There is one backpack.

B) There are four backpacks.

A

B

3

How many notebooks are there?

A) There is one notebook

B) There are three notebooks..

A

B
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